EARAROBREBRT —5 XN—ZXBISH—F 202359828 (£) 2@4LiE7H

WM USR2% FE (BE) [UEFE E8 BRI
[AE%] 17%&:7,200,000 § ~ 237&:2,900,000 .~ 375:1,800,000 437%&:1,100,000 5 3&:720,000
B (%S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES
Vis) p= : - wE—
1B s 27U/ 97 2 %ﬁ% o 1.(3_2).0 -1-1 |36.1]81.8 | 6 (334; *%i% &R
RiAUTAN=FI0—L B:I5UH FRER 43
s o2 | ALEAFE 1:32.4 343 [36.1]77.9 | 3 | 436 |KESA_(FR)
2 &Y 3| 7AOR 55.0 2 172) (=) |BRU—Z @)
RKRib4740 B:RFSU—R A FHE
N _ 8 2 | MEES 1:32.9 7-7-7 |36.3|73.0| 4 514 | BAREE GEF)
3 13| N7 4 —3X 55.0 21/2) (=) | PER—
RiRAYRATERT Y 8:I5UVT EBHT7—L
W T R— t 2 | CbX=lb 1:32.9 643 |36.5| 73.0 | 1 | 48 |EHES &R
AN 5| /vy R—0O ! 55.0 o15) ) M) NICKS
R:IZD—JUFp—R §:/yYIILITVh ARAIWT7—L
» 2 | ELARKE 1:33. 7-7-7 7. . 7 4 FEZR R
51101 FUSELAFA R # 2B 5% 7.0 668 i
RiFPANIVFvY BIVRATA4JIVVS DDOHRIG
== o2 | BE 1:33.5 222 |37.5| 653 | 2 | 454 |IEER (RF)
67|10 FF=~k 55.0 ) ) | s
RiAWTz—I) BRIy Ia #HEIT7—LA

» st 2 | BYAERE 1:34.3 11-9-9 | 37.5]59.0 | 9 474 | 9B (355)
] 4| 7LTUX 55.0 ©) JUBRA

RTFAUAYRA NUAw b BiNXZbolbA2 RIFERIUS
— S 8 2 | FIAER 1:34.4 3-3-5 38.3| 57.8 | 5 472 | PEEE= ()
gl7|11|AV—O%~2 [B] 55.0 /) o) |3HES @
RiFAIATv— B:HLOYIYR 2'S Y Rigig
— = IR 134, -4~ . . B/ GEm)
9 9|9=tYIVvF— ® 2 Q0% 1(,%‘;-;1 S B e (AZL; REE
RAVTAWZFIO—L BNORAYYFv— RIEFS
~ )~ )= RERE :34. -1~ . . RMIERE (/)
10l8l1n vTRIVIVF # 2 | HE 1(32437 12-11-10 | 37.5| 56.0 | 13 (414; Sl

R:O-IVFURYTS BOIRIVUNYA DIRIVT7—L

— s 2 | EEAS 1:34.8 12-13-13 [37.2| 55.4 | 10 | 410 |/AM3LIE GE@)
1|5|7 | *79- 4520 ) (o) |FHRE
RVIWN—RF—b B TI—RY/T7 RUFRF—T I
» BLUTA 134, -12- . . aEad (FERN)
12156 SJAtEALET NUTF 4t 2 71?54.6 1(/%4;53 10-12-12 | 37.4 | 55.5 8 (4i4) E'ﬂiﬁi
R:FISL—yavATor— B93>V NUT o IHZ=T7—L

S ~ 2 BEXK 1:35.7 -10-11 .6 | 6. 12 4 NMERLLE (E8)
N PR DEY, "2ES & TN |86 408 ® | e@Es
RINN-RF—k_B:IN—/155 12 et Filil s

@5 1L
i) 48.4-36.1

NOVIA L | 7.2-11.6-12.3-12.5-12.3-12.1-11.8-12.2

@ 11— —&@BIE(I

13—F—
23—7— | (8,100 (3,9,11)5(1,13)2-6,4-(7,12)
33—F— | (+8,10011(3,9.5) (1,13)4,2,12,6.7
43—3— |8-103.5 9.11) (1,13)4-12,2,6.7
@ Ih\R=E
& 8 3,130 ] [o K 3-8 1,300 | [ %% = 3-6 4,30/ | | 3@ | 3-8-13 13,610/
B 8 660F 8-13 2,970/ | | 15 = 3-8 564003 | | 3@as | 8-3-13] 107,200/
3 190/ 3-13 610m | | 55 & 8-3 13,4301
13 2501

ABIC OV TRUTEREERRODDZE. THRIIZEL.



